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MATH 201 — Fall 2015 Name:
Midterm I — November 4 Section: - Math 201 Number: =

You have 90 minutes. There are six questions. Each question is worth eight points.
Books, notes, cheat sheets, calculators and cell phones are NOT allowed.

Q 1 What fraction of the students at Kog University go to the gym at least twice a week? In
order to find out, a researcher went to West Campus on Monday and interviewed 85 students

at Pideban from 18:00 - 20:00.

(a) What is the population that the researcher is interested in? What is the sample?
(b) What are the units forming this population? What is the variable being studied?
(c) Is the data qualitative or quantitative? Justify your answer.

d) Ts the sample biased? Provide an explanation.
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Q 2 Exactly 92 minibuses departed from Kog University yesterday. We recorded the number
of passengers each minibus had when it departed. The sample mean of these recordings is 8.35
and the sample variance is 6.25.

(a) Give the smallest interval that is guaranteed to contain at least 75% of the recordings.

(b) If the recordings have a mound-shaped and symmetric (i.e., approximately bell curve)
frequency distribution, what fraction of the recordings are contained in the interval you
1 > g b
found in part (a)? Draw a bell curve to illustrate your answer.
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Q 3 Consider the following data set: ot
2

s B
45 35 62 57 33
42 24 36 43 72
69 57, 44 38 4l

42 48737 62 ,%(.34

(a) Compute the sample mean. (For your convenience, the sum of the measurements is 920.)

(b) Compute the median, the lower quartile and the upper quartile.

(c) Draw a box plot for this data set.

(d) Comment on the skewness of this data set. Justify your answer.
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Q 4 Suppose that you found 6 apartments for rent in Maden Mahallesi. Their sizes and
monthly rents arc as follows:

Size (m?) || 125 | 80 | 100 | 140 | 95 | 150
Rent (TL) || 1800 | 1400 | 1450 | 2100 | 1500 | 2200

(a) Construct a scatterplot for this data sct.
(b) Comment on the correlation between these two variables.
(¢) Draw the regression (least squares) line. (For your convenience, Bo = 326.9 and 5, = 12.3.)

(d) Suppose you hear about a seventh apartment for rent in Maden Mahallesi. Use part (c)
to predict the monthly rent if the size is 100 m?.
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Q 5 You will roll a balanced (fair) die three times. Let A be the event that the sum of the
outcomes is 14. Let B be the event that exactly two of the outcomes are equal.

(a) Describe the sample space in this experiment.
(b) What is the probability of A7
(¢) What is the probability of B?

(d) Are the events A and B independent? Justify your answer.
(5’0 ¢ The ShmF[z, Sprce ""‘)ﬂ iy the set 5101(( 1er‘[>lt.s ?’ixmc,o{ /;}
He numbors ’} Z, 3 4y, 5/6
st i, S = fl030,507°

‘Oe\{\ = |
=y S ;(W) GLod,.., 006, (1,2, 0) Az, a,z,g)/,.-,(é,é/)z.

(b (g{ = 216.
A= ﬂ@f_}_)f G5, (3465 (L 4_0' (L5500t 6,43,
5 562]G,4,53,(6,5 L5, ¢ 3),
(615)(655)&&,__) 6,53 (¢4 )(
2,

/A{:_ lg f[uf( ?_u\'?._./ P(A>=——-,_{§— _ ﬂ_‘_;__
216 T

(C> T e ( ;i) =3 Wajs ?F ([uac;':s Hee ’/Dfﬂzs’ ”"‘ffﬁ wll be '17“"’(/

ﬂ‘&fﬁ e é poss/le_. e bas e o mggu o /‘!‘W’— 4!)5&’&

71’[4:{, e (6”{> 0§;;,u:) m.-méo; We., daa r)ssrj ’b /{u_ p#uf— /"DSS

[ -
Riocfore, (s/f. 365 = 90, wd P(8) = 20 . 5.
l/é 1
(,J) /A(]B/ = ? (7‘}:\—1_ e.(z.«»w(il"g = ,w/c.aa( S {Dw.f—(lb )
s _ 25

P(AnR) = 2. - L, the ot hewd, _5. S _ 25
> “)_{6 =7, 2%, L F(A)P@> R

/{ 2 (‘; e E I-,Lc{«f.fz:\JgT becauge. F(/{ﬂ@) */é P(/I)P(E)




Q 6 You are going to Istinye Park to have dinner and then see a movie. Your probability of
enjoying the dinner is 75% and your probability of enjoying the movie is 65%. However, given
that you enjoy the dinner, the conditional probability that you enjoy the movie is 80%.

(a) What is the probability that you enjoy both the dinner and the movie?

(b) What is the probability that you enjoy the dinner or the movie (or both)?
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